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Just like mine in yours is prohibited — TON Towa Yow N

Overview

1y "1 said in the name of 7°Xn "M that we know that 77Iva wnwiw 197 is 70K
X172, since the 77 commanded us to ‘shecht’ ow7p in the 771y and to ‘shecht’
121 outside the 771Y; so we compare them, just as 2°w7p which were vnw1 outside
the 771v (not in their proper place) are 10X, similarly 121 which were vnwa in the
771y (not in their proper place) are also MoX. Our MdOIN explains how we derive
from this X377 MOX.
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s"w4 explained that MoK 75w32 *5w means that it is 7IRI72 7OR, for there is no way
to make the 2°w7p permitted nxi72 -
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For since they were sanctified (and therefore become X172 710K), they cannot
become permissible 71X, for it is only the sprinkling of the blood on the nam,
that permits one to have X7 from 2°w7p -
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But these 2°v7p, which were vnw: outside the 771v, their blood is not sprinkled
on the 171217, so therefore their X377 MO°X remains.

n1voIN asks:
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And »'"977 asked that we find similarly that 72597 removes the transgression of

79907 (just as Ap>T is XXM from 73T MOK) -
= N9V Y1990 INS? INNY DOVTP (%2 91 0991) 132VIN 22D 1999N)

And nevertheless X7 said in the name of 111 '1; @asw7p which die are exempt

from 77»opn -
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And even though the blood was not 912 on the nam -
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2 One is not permitted to have 1X317 from 2°w7p; if one does have nx37 from 2°w7p he is WIpA2 ¥ and is required to
bring a 17°vn 127p (besides repaying wpn for his X317 plus a fourth/fifth).

3 A 1277 which was 771v% v vnwa becomes 2109 and it needs to be burnt. No blood is 711 on the mam.

4 Once the a7 was P11 on the narm, if one had 78317 from the 127p, there is no A2°vn 2vn. [It would seem that the n"7
does not question s™"w" assumption that 72 Yonwiw o wIp are RIT2 2°OK, rather he (merely) maintains that (even
though they are 78372 010K, nevertheless) since they are dead there is no longer a 72°¥» 21; see 2"17. ]
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So similarly here too we should say that the 7w s of 771va 1911, should remove

the 72°K of >r177 32 12K, and the 1211 should be permitted even to be eaten! Why
do we assume that they are 10X (even) nx1727?!

mooin offers his interpretation:
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Therefore the »''277 explained that 99908 75w3a %2 7% means —
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That the ym °vinw have no longer the status of a>w7p (which they had

previously), to go up upon the 17312 and exempt their owners from being required to

bring another 1277 -
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So also »wa To>w (the 7va WwnwIw 1°711) do not retain their 39237 status (which
they had previously), and they are not fit for their usual permissibility that is
applicable to them, that which 71w usually accords them, meaning eating.

Summary
According to n"777 just as Y1 v do not retain their 2°WTp status to be brought on

the nam (even though they were vnw1), similarly 791v2 yonwaw P21, do not receive
their 2n°7 status (of 71%°9X) through v nw.

Thinking it over

According to the n"377 "5 (that 771v2 ywnww 121 do not get the 7w nw A0 to be
720K 7°nn),® how do we know that 771y YonwIw 1911 are X172 70X as is evident
from our mwn?!°

2. Why is the question of the 2"977 on "wA, not difficult on the 2"977 "5 as well?!

5 The question is that just as 01 (or mu>nw [which is the same as n*»]) has the capability to remove the 72°vn 2rn
(an Mo°x that was on this animal previously), similarly by 7712 ywnwww P21, the qvnw (which is 7n") should have
the capability of removing the 1777 11 728 M0°R which was on this animal before the v nw.

6 Just as v "0 lose their previous status (to have the owner fulfill his 1277 obligation) similarly 771v2 1211 do not
retain their previous status to be > nw32 72987 101 (so that they cannot be 77°2X? N through v nw).

7 See ‘Thinking it over’.

8 See footnote # 6.

% See w"w.

2
TosfosInEnglish.com



